
Quiz 2 SEPTEMBERS. 2019
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■ 1 ■ '-4 ' 2 ■ ■ 3 '
ai =

1

1 0 to , a2 =

00
 CO

1__
__ , as = 5

-4
, b =

CO '
1 

1

____
1

a Hv\eav" covY>b\V\a1"\ov^ 0"^ -tviese vec-txD>rS coVNeo 
- C.Ti ■t-C^'Vi... Vp 

y 40/- Some scavs'TS C, Ci^. Xp

/t

ujL^gvNrs 500^ •tv\a'‘r

4i]*-p]-ra
1X3

i:v\\S SLjS't'^'on is 

\y\co rS (rv Ca3 m ^ c 
i;Y\trV y\o s

/. ^ is YNoi" a Cvx\eL^'<^ ^ 
eoYY^\D,Aa-rso■^ o ^ tHc se-t o

veeroTS '1,’a,\

2. (3pts) List (at least) three distinct vectors living in Spanjai, a2, as} where
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